Tfn 3Ly i 2 * 15
RIS 4 . = _ MmBEE
g ks @ B W w4 [P FEEEREIBEITOBES
% | i ® ® 1% #
W L ET ERTH B S o HBHIE O E S T d
Hitli
L AR — | B |V P HESE b Y b Y b v
2 LRCEASH o Hs 50 Ll%%@gm@%ﬁ%ﬁmﬁ
ROLIAS D Mtk
1 [EE3 2 B5REWEUEEL 9 2 50y
(1) BSeiRB MR O B bR —lE 19t 2 - -
(2) BRSO HR 50 | L1 20M 330 1260 1.2
2 JRGESFTH EABRR
(1) R BR Py o B2 KR —l 12 17—~ —
(2)  ERELASh O ik 50 | L1 17 27 1.2 1.2
3 ROEBMH BRSO RER Y
(1) FRERB i o B T HE Xk — 1 18— —
(2) kRSSO HIR B0 | 1.1y 14 230 1260 1.2
4 _LFEREISh o Hbisk
(1) FREeiREHIERPN o B Hh X I # 5. TG 7. — -
(2} EFLAS O sk 50 | L1 7.9 13ff 1. 280 1.2
FEINAT EiE 3 2 5 50 | 1.14* 20t 328 0.8l 0.8
EiE 19 28HBw
L FRSEHR A P oD B P I Moo Lpho18 | —
2 _LEEM o 50 | L1 200 320 0.8 0.8
WL TE R AR R 1
1 REIREIE P o 2 —ft o7 3 10— —
2 LB O 50 | 1.1 9.8 16§00 8% 0.8
ERELASN O Mt ek
1 REEIR A N O 8 P —ifll 4.8 7.6/ —| —
2 LR R 50 | L1 9.0fF 13§l 0. 8 0.8
o PR Exin 50 L2%2J%2.@0§E0ﬁ
O s e 50 | 1.0 1o 2. 10 1. 200 1.2




Tfn 3Ly i 2 * 2H
RIS 4 . = _ MmBEE
g ks @ B W w4 [P FEEEREIBEITOBES
A HFET AN VLT IR Pl R 50% L1 11§¢f 2%@ 0. ! o.g iy
ERRLAS O HitER
1 BESEIROUHUIRN o0 2 K Wos.epior.e —| —
2 LBELS o ik 50 | 1.1|F 5.5 9.6 0.9l 0.9
ZEPRTZ A VB ISP A 50 | L1 14 27 0.9%E 0.9
IRE 2 AP R B0 | 11| 9.9 208l 0.9 0.9
ERCELAR oo HEkE
1 RSEHR B N O R B —ift 3.9t 7.7 —|  —
2 _ERREU o sk 50 | 114 5.9+ 10#L 0.9% 0.9
—BFETIEAK VB P E AT 50 | L1 14 27l 0. 9% 0.9
LRCLASR O
L FRSEHRELMI N o B P —f 3. TR 7.9~ —
2 _ERCEM O I 50 | L.1|F 5.6 9.7 0.9%K 0.9
LR ) VRH R P F AR TR 50 | 11| 14 27 0.9 0.9
LRDLAS O ik
1 B EEHR B HNIE N o B F K —fl 3. 80 7.4 — -
2 _LRLA oM 50 | 1.1 58 9.7l 0.9 0.9
ZBPHT AT WL TE IR Pt FR R TR
1 iR P o o K —fE gt 18 -] —
2 LELAO K 50 | L1 15 270 0. 9 0.9
EFCLAS O Hit
1 REHRBUHIG PN o e K il 4. 60 8,00 —| -
2 LiS o 50 | L.1|f 6.0 9.7 0.9 0.9
ZHFAT R I B L 5 SR B MR P oD SR Y e M43l 8.5 —| —
_EEDLAA o i 50 | 11| 6.4 10E 0.9 0.9
R ILIERAT g 50 | 1.1 (Bl 1o 2. 850 1. 260 1.2




